# New York Journal of Mathematics

New York J. Math. 10 (2004) 69-81.

## Error inequalities for a corrected interpolating polynomial

## Nenad Ujević

ABSTRACT. A corrected interpolating polynomial is derived. Error inequalities of Ostrowski type for the corrected interpolating polynomial are established. Some similar inequalities are also obtained.

#### CONTENTS

1.	Introduction	69
2.	Corrected interpolating polynomial	70
3.	Error inequalities	76
References		80

### 1. Introduction

Many error inequalities in polynomial interpolation can be found in [2] and [12]. These error bounds for interpolating polynomials are usually expressed by means of the norms  $\|\cdot\|_p$ ,  $1 \leq p \leq \infty$ . Some new error inequalities in polynomial interpolation can be found in [16]. In this paper we derive error inequalities for a corrected interpolating polynomial. Similar inequalities are obtained in numerical integration. For example see [3]–[11], [14] and [15]. In some of the mentioned papers we can find estimations for errors of quadrature formulas which are expressed by means of the differences  $\Gamma_k - \gamma_k$ ,  $S - \gamma_k$ ,  $\Gamma_k - S$ , where  $\Gamma_k, \gamma_k$  are real numbers such that  $\gamma_k \leq f^{(k)}(t) \leq \Gamma_k$ ,  $t \in [a,b]$  (k is a positive integer while [a,b] is an interval of integration) and  $S = \left[f^{(k-1)}(b) - f^{(k-1)}(a)\right]/(b-a)$ . It is shown that the estimations expressed in such a way can be much better than estimations expressed by means of the norms  $\|f^{(k)}\|_p$ ,  $1 \leq p \leq \infty$ . Furthermore, it is well-known that corrected quadrature formulas have better estimations of errors than corresponding original formulas.

As we know there is a close relationship between interpolation polynomials and quadrature rules. Thus, it is a natural try to establish similar error inequalities in

ISSN 1076-9803/04

Received November 5, 2003.

Mathematics Subject Classification. 26D10, 41A80, 65D05.

Key words and phrases. corrected interpolating polynomial, representation of remainder, Ostrowski type inequalities.

#### Nenad Ujević

polynomial interpolation. The usual procedure is to find an interpolating formula and then we write a corresponding quadrature formula. Here we reverse the procedure. We have some results for quadrature formulas and we derive corresponding results for interpolating polynomials.

We first establish general error inequalities, expressed by means of  $||f^{(k)} - P_m||$ , where  $P_m$  is any polynomial of degree m and then we obtain inequalities of the above mentioned types. For that purpose we derive a representation of remainder in corrected interpolating polynomial. This is done in Section 2. In the same section we give a relationship between the corrected interpolating polynomial and a corresponding quadrature rule. In Section 3 we obtain the error inequalities.

Finally, we emphasize that the usual error inequalities in polynomial interpolation (for the Lagrange interpolating polynomial  $L_n(x)$ ) are given by means of the (n+1)th derivative while in this paper we can find these error inequalities expressed by means of the *kth* derivative for k = 1, 2, ..., n.

## 2. Corrected interpolating polynomial

Let  $\pi = \{a = x_0 < x_1 < \cdots < x_n = b\}$  be a given subdivision of the interval [a, b]and let  $f : [a, b] \to R$  be a given function. The Lagrange interpolation polynomial is given by

(2.1) 
$$L_n(x) = \sum_{i=0}^n p_{ni}(x) f(x_i),$$

where

(2.2) 
$$p_{ni}(x) = \frac{(x-x_0)\cdots(x-x_{i-1})(x-x_{i+1})\cdots(x-x_n)}{(x_i-x_0)\cdots(x_i-x_{i-1})(x_i-x_{i+1})\cdots(x_i-x_n)},$$

for i = 0, 1, ..., n. We have the Cauchy relations ([12, pp. 160-161]),

(2.3) 
$$\sum_{i=0}^{n} p_{ni}(x) = 1$$

and

(2.4) 
$$\sum_{i=0}^{n} p_{ni}(x)(x-x_i)^j = 0, \ j = 1, 2, \dots, n.$$

Let  $\pi = \{x_0 = a < x_1 < \cdots < x_n = b\}$  be a given uniform subdivision of the interval [a, b], i.e.,  $x_i = x_0 + ih$ , h = (b - a)/n,  $i = 0, 1, 2, \ldots, n$ . Then the Lagrange interpolating polynomial is given by

$$L_n(x) = L_n(x_0 + th)$$
  
=  $(-1)^n \frac{t(t-1)\cdots(t-n)}{n!} \sum_{i=0}^n (-1)^i \binom{n}{i} \frac{f(x_i)}{t-i},$ 

where  $t \notin \{0, 1, 2, \dots, n\}, 0 < t < n$ .

As we know the divided difference of the first order of the function f is given by

$$f[x_0; x_1] = \frac{f(x_1) - f(x_0)}{x_1 - x_0}$$

The divided difference of order n is defined via the divided differences of order n-1 by the recurrence formula

$$f[x_0; x_1; \dots; x_n] = \frac{f[x_1; x_2; \dots; x_n] - f[x_0; x_1; \dots; x_{n-1}]}{x_n - x_1}.$$

The following lemma is valid ([2, p. 86]):

Lemma 2.1. The nth-order divided difference satisfies the relation

$$f[x_0; x_1; \dots; x_n] = \sum_{i=0}^n \frac{f(x_i)}{(x_i - x_0) \cdots (x_i - x_{i-1})(x_i - x_{i+1}) \cdots (x_i - x_n)}.$$

The interpolating polynomial can be written in the Newton form as

$$L_n(x) = f(x_0) + \sum_{i=0}^{n-1} (x - x_0) \cdots (x - x_i) f[x_0; \dots; x_{i+1}]$$
  
=  $f(x_0) + \sum_{i=0}^{n-1} \omega_i(x) f[x_0; \dots; x_{i+1}],$ 

where

(2.5) 
$$\omega_i(x) = (x - x_0)(x - x_1) \cdots (x - x_i),$$

for  $i = 0, 1, 2, \dots, n$ .

We also recall some properties of Euler polynomials. The Euler polynomials are defined by the relation

$$\frac{2e^{xt}}{e^t + 1} = \sum_{k=0}^{\infty} E_k(x) \frac{t^k}{k!}, \quad |t| < \pi,$$

such that

(2.6) 
$$E_0(x) = 1, \quad E_1(x) = x - \frac{1}{2}, \quad E_2(x) = x^2 - x, \dots$$

We have

(2.7) 
$$E'_k(x) = kE_{k-1}(x) \text{ or } \int E_k(x)dx = \frac{E_{k+1}(x)}{k+1}, \ k = 1, 2, \dots,$$

(2.8) 
$$\int_0^1 E_n(t)E_m(t)dt = (-1)^n 4(2^{m+n+2} - 1)\frac{m!n!}{(m+n+2)!}B_{m+n+2}$$

and

(2.9) 
$$\int_0^1 E_n(t)dt = \frac{E_{n+1}(1) - E_{n+1}(0)}{n+1}, n = 1, 2, \dots$$

We also have

(2.10) 
$$E_k(0) = -E_k(1) = -2\frac{2^{k+1}-1}{k+1}B_{k+1},$$

where  $B_k$  are Bernoulli numbers such that

$$E_1(0) = -\frac{1}{2}, \quad E_2(0) = 0, \quad E_3(0) = \frac{1}{4}, \quad E_4(0) = 0, \dots$$

or generally  $E_{2n}(0) = 0$ . Further properties of Euler polynomials can be found in [1].

**Lemma 2.2.** Let  $P_m(t)$  be any polynomial of degree  $\leq m$  and let  $\pi$  be a given subdivision of the interval [a, b]. Then

$$\sum_{i=0}^{n} p_{ni}(x)(x-x_i)^k \int_{x_i}^{x} P_m(t) E_k\left(\frac{t-x_i}{x-x_i}\right) dt = 0,$$

for  $0 \le k + m \le n - 1$  and  $x \in [a, b]$ , where  $E_k(t)$  are Euler polynomials.

**Proof.** Let x be a real number. Then we have

$$P_m(t) = \sum_{j=0}^m c_j (x-t)^j,$$

for some coefficients  $c_j = c_j(x), j = 0, 1, \ldots, m$ . (This is a consequence of the Taylor formula.) Thus,

$$\int_{x_i}^x P_m(t) E_k\left(\frac{t-x_i}{x-x_i}\right) dt = \sum_{j=0}^m c_j \int_{x_i}^x (x-t)^j E_k\left(\frac{t-x_i}{x-x_i}\right) dt.$$

We now calculate

$$\begin{split} \int_{x_i}^x (x-t)^j E_k\left(\frac{t-x_i}{x-x_i}\right) dt &= \int_0^{x-x_i} (x-x_i-u)^j E_k\left(\frac{u}{x-x_i}\right) du \\ &= (x-x_i)^j \int_0^{x-x_i} \left(1-\frac{u}{x-x_i}\right)^j E_k\left(\frac{u}{x-x_i}\right) du \\ &= (x-x_i)^{j+1} \int_0^1 (1-v)^j E_k(v) dv. \end{split}$$

Integrating by parts and using the property (2.7), we obtain

$$\int_0^1 (1-v)^j E_k(v) dv = -\frac{1}{k+1} E_{k+1}(0) + \frac{j}{k+1} \int_0^1 (1-v)^{j-1} E_{k+1}(v) dv.$$

In a similar way we get

$$\int_0^1 (1-v)^{j-1} E_{k+1}(v) dv = -\frac{1}{k+2} E_{k+2}(0) + \frac{j-1}{k+2} \int_0^1 (1-v)^{j-2} E_{k+2}(v) dv.$$

Hence, we have

$$\int_0^1 (1-v)^j E_k(v) dv = -\frac{1}{k+1} E_{k+1}(0) - \frac{j}{(k+1)(k+2)} E_{k+2}(0) + \frac{j(j-1)}{(k+1)(k+2)} \int_0^1 (1-v)^{j-2} E_{k+2}(v) dv.$$

Continuing in this way we get

$$\int_0^1 (1-v)^j E_k(v) dv = -\sum_{l=0}^{j-1} \frac{k!j!}{(k+l+1)!(j-l)!} E_{k+l+1}(0) - 2\frac{k!j!E_{k+j+1}(0)}{(k+j+1)!},$$

for  $j \ge 1$ , since  $\int_0^1 E_{k+j}(v) dv = -2 \frac{E_{k+j+1}(0)}{k+j+1}$ . For j = 0,  $\int_0^1 (1-v)^0 E_k(v) dv = -\frac{2E_{k+1}(0)}{k+1}$ . Thus,

$$\int_{x_i}^x (x-t)^j E_k\left(\frac{t-x_i}{x-x_i}\right) dt = (x-x_i)^{j+1} D_{kj},$$

where

$$D_{kj} = \begin{cases} -\frac{2E_{k+1}(0)}{k+1}, & j = 0\\ -\sum_{l=0}^{j-1} \frac{k!j!}{(k+l+1)!(j-l)!} E_{k+l+1}(0) - 2\frac{k!j!E_{k+j+1}(0)}{(k+j+1)!}, & 1 \le j \le m. \end{cases}$$

It follows that

$$\int_{x_i}^{x} P_m(t) E_k\left(\frac{t-x_i}{x-x_i}\right) dt = \sum_{j=0}^{m} c_j D_{kj} (x-x_i)^{j+1}.$$

Finally, we get

$$\sum_{i=0}^{n} p_{ni}(x)(x-x_i)^k \int_{x_i}^{x} P_m(t) E_k\left(\frac{t-x_i}{x-x_i}\right) dt$$
$$= \sum_{j=0}^{m} c_j D_{kj} \sum_{i=0}^{n} p_{ni}(x)(x-x_i)^{k+j+1} = 0,$$

for  $0 \le k + m \le n - 1$ , since (2.4) holds.

**Theorem 2.1.** Under the assumptions of Lemma 2.2 suppose that  $f \in C^{k+1}(a, b)$ . Then

(2.11) 
$$f(x) = L_n(x) + \omega_n(x) \sum_{j=1}^k \frac{(-1)^j E_j(0)}{j!} g_j[x_0; x_1; \dots; x_n] + R_{k,m}(x),$$

where

(2.12)  
$$R_{k,m}(x) = \frac{(-1)^k}{k!} \sum_{i=0}^n p_{ni}(x)(x-x_i)^k \int_{x_i}^x \left[ f^{(k+1)}(t) - P_m(t) \right] E_k\left(\frac{t-x_i}{x-x_i}\right) dt$$

and

$$g_j(t) = (x-t)^{j-1} f^{(j)}(t), \quad j = 1, 2, \dots, k.$$

**Proof.** We have

$$R_{k,m}(x) = \frac{(-1)^k}{k!} \sum_{i=0}^n p_{ni}(x)(x-x_i)^k \int_{x_i}^x f^{(k+1)}(t) E_k\left(\frac{t-x_i}{x-x_i}\right) dt$$
$$-\frac{(-1)^k}{k!} \sum_{i=0}^n p_{ni}(x)(x-x_i)^k \int_{x_i}^x P_m(t) E_k\left(\frac{t-x_i}{x-x_i}\right) dt.$$

From the above relation and Lemma 2.2 it follows that

$$R_{k,m}(x) = R_k(x) = \frac{(-1)^k}{k!} \sum_{i=0}^n p_{ni}(x)(x-x_i)^k \int_{x_i}^x f^{(k+1)}(t) E_k\left(\frac{t-x_i}{x-x_i}\right) dt.$$

Integrating by parts, we obtain

$$\frac{(-1)^k}{k!} (x - x_i)^k \int_{x_i}^x f^{(k+1)}(t) E_k \left(\frac{t - x_i}{x - x_i}\right) dt$$
  
=  $\frac{(-1)^k}{k!} (x - x_i)^k \left[ E_k(1) f^{(k)}(x) - E_k(0) f^{(k)}(x_i) \right]$   
+  $\frac{(-1)^{k-1}}{(k-1)!} (x - x_i)^{k-1} \int_{x_i}^x f^{(k)}(t) E_{k-1} \left(\frac{t - x_i}{x - x_i}\right) dt,$ 

since (2.7) holds. In a similar way we get

$$\frac{(-1)^{k-1}}{(k-1)!} (x-x_i)^{k-1} \int_{x_i}^x f^{(k)}(t) E_{k-1}\left(\frac{t-x_i}{x-x_i}\right) dt$$
  
=  $\frac{(-1)^{k-1}}{(k-1)!} (x-x_i)^{k-1} \left[ E_{k-1}(1) f^{(k-1)}(x) - E_{k-1}(0) f^{(k-1)}(x_i) \right]$   
+  $\frac{(-1)^{k-2}}{(k-2)!} (x-x_i)^{k-2} \int_{x_i}^x f^{(k-1)}(t) E_{k-2}\left(\frac{t-x_i}{x-x_i}\right) dt.$ 

Continuing in this way we get

$$\frac{(-1)^k}{k!} (x - x_i)^k \int_{x_i}^x f^{(k+1)}(t) E_k\left(\frac{t - x_i}{x - x_i}\right) dt$$
  
=  $\sum_{j=1}^k \frac{(-1)^j}{j!} (x - x_i)^j \left[E_j(1)f^{(j)}(x) - E_j(0)f^{(j)}(x_i)\right] + \int_{x_i}^x f'(t) dt$   
=  $\sum_{j=1}^k \frac{(-1)^j}{j!} (x - x_i)^j \left[E_j(1)f^{(j)}(x) - E_j(0)f^{(j)}(x_i)\right] + f(x) - f(x_i).$ 

Then we have

$$\begin{aligned} R_k(x) \\ &= \sum_{i=0}^n p_{ni}(x) \left[ f(x) - f(x_i) \right] \\ &+ \sum_{i=0}^n p_{ni}(x) \sum_{j=1}^k \frac{(-1)^j}{j!} (x - x_i)^j \left[ E_j(1) f^{(j)}(x) - E_j(0) f^{(j)}(x_i) \right] \\ &= f(x) - L_n(x) + \sum_{j=1}^k \frac{(-1)^j}{j!} \sum_{i=0}^n p_{ni}(x) (x - x_i)^j \left[ E_j(1) f^{(j)}(x) - E_j(0) f^{(j)}(x_i) \right] \\ &= f(x) - L_n(x) - \sum_{j=1}^k \frac{(-1)^j}{j!} E_j(0) \sum_{i=0}^n p_{ni}(x) (x - x_i)^j f^{(j)}(x_i), \end{aligned}$$

since (2.3) holds and

$$\sum_{i=0}^{n} p_{ni}(x)(x-x_i)^j E_j(1) f^{(j)}(x) = 0,$$

for  $1 \leq j \leq n$ . We have

$$\sum_{i=0}^{n} p_{ni}(x)(x-x_i)^j f^{(j)}(x_i)$$
  
=  $\omega_n(x) \sum_{i=0}^{n} \frac{(x-x_i)^{j-1} f^{(j)}(x_i)}{(x_i-x_0)\cdots(x_i-x_{i-1})(x_i-x_{i+1})\cdots(x_i-x_n)}$ 

and

$$g_j[x_0; x_1; \dots; x_n] = \sum_{i=0}^n \frac{(x-x_i)^{j-1} f^{(j)}(x_i)}{(x_i - x_0) \cdots (x_i - x_{i-1})(x_i - x_{i+1}) \cdots (x_i - x_n)},$$

by Lemma 2.1, so that

$$R_k(x) = f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j}{j!} E_j(0) g_j [x_0; x_1; \dots; x_n].$$

This completes the proof.

**Remark 2.1.** Since  $E_{2j}(0) = 0, j = 1, 2, ...,$  we can write

$$f(x) = L_n(x) - \omega_n(x) \sum_{j=0}^{\left\lfloor \frac{k-1}{2} \right\rfloor} \frac{E_{2j+1}(0)}{(2j+1)!} g_{2j+1}[x_0; x_1; \dots; x_n] + R_{k,m}(x).$$

**Example 2.1.** If we choose n = 1 in (2.11) then we get

$$f(x) = \frac{x - x_1}{x_0 - x_1} f(x_0) + \frac{x - x_0}{x_1 - x_0} f(x_1) + \frac{1}{2} (x - x_0) (x - x_1) \frac{f'(x_1) - f'(x_0)}{x_1 - x_0} + R.$$

Thus,

$$\int_{x_0}^{x_1} f(x)dx = \frac{f(x_0) + f(x_1)}{2}(x_1 - x_0) - \frac{(x_1 - x_0)^2}{12} \left[f'(x_1) - f'(x_0)\right] + \int_{x_0}^{x_1} Rdx,$$

since

$$\int_{x_0}^{x_1} \frac{x - x_1}{x_0 - x_1} dx = \int_{x_0}^{x_1} \frac{x - x_0}{x_1 - x_0} dx = x_1 - x_0,$$
  
$$\frac{1}{2} \int_{x_0}^{x_1} \frac{(x - x_0)(x - x_1)}{x_1 - x_0} dx = -\frac{(x_1 - x_0)^2}{12}.$$

We see that the above quadrature formula is the well-known corrected trapezoidal rule.

**Remark 2.2.** If we generalize the above example then we find that the following conclusions are valid: If we integrate (2.11) from  $x_0$  to  $x_n$  then we get a corrected Newton-Cotes formula. (Of course, we suppose that the partition  $\pi$  is uniform.) It is well-known that the corrected formulas have better estimations of errors than corresponding original quadrature formulas.

### 3. Error inequalities

We now introduce the notations

(3.1) 
$$C_k(x) = \sum_{i=0}^n \frac{|x - x_i|^k}{|x_i - x_0| \cdots |x_i - x_{i-1}| |x_i - x_{i+1}| \cdots |x_i - x_n|},$$

(3.2) 
$$F_k(x) = \sum_{i=0}^n \frac{(S_{ki} - \gamma_{k+1}) |x - x_i|^k}{|x_i - x_0| \cdots |x_i - x_{i-1}| |x_i - x_{i+1}| \cdots |x_i - x_n|},$$

(3.3) 
$$D_k(x) = \sum_{i=0}^n \frac{(\Gamma_{k+1} - S_{ki}) |x - x_i|^k}{|x_i - x_0| \cdots |x_i - x_{i-1}| |x_i - x_{i+1}| \cdots |x_i - x_n|},$$

where  $S_{ki} = \left[f^{(k)}(x) - f^{(k)}(x_i)\right] / (x - x_i), i = 0, 1, \dots, n \text{ and } \gamma_{k+1}, \Gamma_{k+1} \text{ are real numbers such that } \gamma_{k+1} \leq f^{(k+1)}(t) \leq \Gamma_{k+1}, t \in [a, b], k = 0, 1, \dots, n-1.$  We also define the constant

(3.4) 
$$\delta_k = \frac{\sqrt{|B_{2k+2}|}}{\sqrt{(2k+2)!}}\sqrt{2^{2k+2}-1}.$$

Let  $g \in C(a, b)$ . As we know among all algebraic polynomials of degree  $\leq m$  there exists the only polynomial  $P_m^*(t)$  having the property that

$$\|g - P_m^*\|_{\infty} \le \|g - P_m\|_{\infty},$$

where  $P_m \in \Pi_m$  is an arbitrary polynomial of degree  $\leq m$ . We define

(3.5) 
$$G_m(g) = \|g - P_m^*\| = \inf_{P_m \in \Pi_m} \|g - P_m\|_{\infty}.$$

**Theorem 3.1.** Under the assumptions of Theorem 2.1 we have

$$\left| f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j E_j(0)}{j!} g_j [x_0; x_1; \dots; x_n] \right| \\ \leq 2\delta_k G_m(f^{(k+1)}) C_k(x) |\omega_n(x)|,$$

where  $C_k(\cdot)$ ,  $\delta_k$  and  $G_m(\cdot)$  are defined by (3.1), (3.4) and (3.5), respectively.

**Proof.** We have

$$\left(\int_{x_i}^x E_k\left(\frac{t-x_i}{x-x_i}\right) dt\right)^2 \le |x-x_i| \left| \int_{x_i}^x \left(E_k\left(\frac{t-x_i}{x-x_i}\right)\right)^2 dt \right|$$
$$= (x-x_i)^2 \int_0^1 (E_k(u))^2 du$$
$$= 4 \frac{(k!)^2}{(2k+2)!} (2^{2k+2} - 1)(x-x_i)^2 |B_{2k+2}|,$$

since (2.8) holds.

Let  $P_m(t) = P_m^*(t)$ , where  $P_m^*(t)$  is defined by (3.5) for the function  $g(t) = f^{(k+1)}(t)$ . Then we have

$$\begin{aligned} |R_{k,m}(x)| &= \left| \frac{(-1)^k}{k!} \sum_{i=0}^n p_{ni}(x)(x-x_i)^k \int_{x_i}^x \left[ f^{(k+1)}(t) - P_m^*(t) \right] E_k\left(\frac{t-x_i}{x-x_i}\right) dt \right| \\ &\leq \frac{1}{k!} \sum_{i=0}^n \left| p_{ni}(x)(x-x_i)^k \right| \left| \int_{x_i}^x \left[ f^{(k+1)}(t) - P_m^*(t) \right] E_k\left(\frac{t-x_i}{x-x_i}\right) dt \right| \\ &\leq \frac{\left\| f^{(k+1)} - P_m^* \right\|_{\infty}}{k!} \frac{2k! \sqrt{|B_{2k+2}|}}{\sqrt{(2k+2)!}} \sqrt{2^{2k+2} - 1} C_k(x) \left| \omega_n(x) \right| \\ &= 2 \frac{G_m(f^{(k+1)}) \sqrt{|B_{2k+2}|}}{\sqrt{(2k+2)!}} \sqrt{2^{2k+2} - 1} C_k(x) \left| \omega_n(x) \right| \end{aligned}$$

and

$$R_{k,m}(x) = f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j}{j!} E_j(0) g_j[x_0; x_1; \dots; x_n].$$

This completes the proof.

**Remark 3.1.** The above estimate has only theoretical importance, since it is difficult to find the polynomial  $P^*$ . In fact, we can find  $P^*$  only for some special cases of functions. However, we can use the estimate to obtain some practical estimations — see Theorem 3.2.

**Theorem 3.2.** Let the assumptions of Theorem 2.1 hold. If  $\gamma_{k+1}$ ,  $\Gamma_{k+1}$  are real numbers such that  $\gamma_{k+1} \leq f^{(k+1)}(t) \leq \Gamma_{k+1}$ ,  $t \in [a, b]$ ,  $k = 0, 1, \ldots, n-1$ , then

$$\left| f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j E_j(0)}{j!} g_j \left[ x_0; x_1; \dots; x_n \right] \right| \\ \leq \delta_k \left[ \Gamma_{k+1} - \gamma_{k+1} \right] C_k(x) \left| \omega_n(x) \right|,$$

where  $\omega_n$ ,  $\delta_k$  and  $C_k(\cdot)$  are defined by (2.5), (3.4) and (3.1), respectively. We also have

$$\left| f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j B_j}{j!} g_j \left[ x_0; x_1; \dots; x_n \right] \right| \le 2\delta_k \left| \omega_n(x) \right| F_k(x)$$

and

$$\left| f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j B_j}{j!} g_j [x_0; x_1; \dots; x_n] \right| \le 2\delta_k |\omega_n(x)| D_k(x),$$

where  $F_k(\cdot)$  and  $D_k(\cdot)$  are defined by (3.2) and (3.3), respectively.

**Proof.** We set  $P_m(t) = (\Gamma_{k+1} + \gamma_{k+1})/2$  in (2.12). Then we have

$$\left| f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j}{j!} E_j(0) g_j \left[ x_0; x_1; \dots; x_n \right] \right|$$
  
=  $|R_{k,m}(x)|$   
 $\leq \frac{1}{k!} \sum_{i=0}^n |p_{ni}(x)(x-x_i)^k| \left\| f^{(k+1)} - \frac{\Gamma_{k+1} + \gamma_{k+1}}{2} \right\|_{\infty} \left| \int_{x_i}^x E_k \left( \frac{t-x_i}{x-x_i} \right) dt \right|.$ 

We also have

$$\left\| f^{(k+1)} - \frac{\Gamma_{k+1} + \gamma_{k+1}}{2} \right\|_{\infty} \le \frac{\Gamma_{k+1} - \gamma_{k+1}}{2}$$

and

$$\left| \int_{x_i}^x E_k\left(\frac{t-x_i}{x-x_i}\right) dt \right| \le \frac{2k!}{\sqrt{(2k+2)!}} \sqrt{2^{2k+2}-1} |x-x_i| \sqrt{|B_{2k+2}|}.$$

From the above three relations we get

$$\begin{aligned} \left| f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j}{j!} E_j(0) g_j \left[ x_0; x_1; \dots; x_n \right] \right| \\ &\leq \frac{\Gamma_{k+1} - \gamma_{k+1}}{\sqrt{(2k+2)!}} \sqrt{2^{2k+2} - 1} \sqrt{|B_{2k+2}|} \sum_{i=0}^n |p_{ni}(x)| \left| x - x_i \right|^{k+1} \\ &= \frac{\Gamma_{k+1} - \gamma_{k+1}}{\sqrt{(2k+2)!}} \sqrt{2^{2k+2} - 1} \sqrt{|B_{2k+2}|} C_k(x) \left| \omega_n(x) \right|. \end{aligned}$$

The first inequality is proved.

We now set  $P_m(t) = \gamma_{k+1}$  in (2.12). Then we have

$$\left| f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j}{j!} E_j(0) g_j[x_0; x_1; \dots; x_n] \right|$$
  
=  $|R_{k,m}(x)|$   
 $\leq \frac{1}{k!} \sum_{i=0}^n |p_{ni}(x)(x-x_i)^k| \left| \int_{x_i}^x \left[ f^{(k+1)}(t) - \gamma_{k+1} \right] E_k\left(\frac{t-x_i}{x-x_i}\right) dt \right|.$ 

We also have

$$\left| \int_{x_i}^x \left[ f^{(k+1)}(t) - \gamma_{k+1} \right] dt \right| = \left| f^{(k)}(x) - f^{(k)}(x_i) - \gamma_{k+1}(x - x_i) \right|$$
$$= \left( S_{ki} - \gamma_{k+1} \right) |x - x_i|.$$

Thus,

$$\left| f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j}{j!} E_j(0) g_j \left[ x_0; x_1; \dots; x_n \right] \right|$$
  
$$\leq \frac{1}{k!} \sum_{i=0}^n |p_{ni}(x)| \left| x - x_i \right|^{k+1} (S_{ki} - \gamma_{k+1}) \frac{2k! \sqrt{|B_{2k+2}|}}{\sqrt{(2k+2)!}} \sqrt{2^{2k+2} - 1}$$
  
$$= 2 \frac{|\omega_n(x)|}{\sqrt{(2k+2)!}} \sqrt{2^{2k+2} - 1} \sqrt{|B_{2k+2}|} F_k(x).$$

The second inequality is proved. The third inequality holds by a similar proof.  $\hfill\square$ 

**Lemma 3.1.** Let  $\pi = \{x_0 = a < x_1 < \cdots < x_n = b\}$  be a given uniform subdivision of the interval [a,b], i.e.,  $x_i = x_0 + ih$ , h = (b-a)/n,  $i = 0, 1, 2, \ldots, n$ . If  $x \in (x_{j-1}, x_j)$ , for some  $j \in \{1, 2, \ldots, n\}$ , then

(3.6) 
$$|\omega_n(x)| \le j!(n-j+1)!h^{n+1},$$

(3.7) 
$$C_k(x) \le \frac{2^n}{n!} \left\{ \frac{1}{2} \left[ n+1 + |n-2j+1| \right] \right\}^k h^{k-n},$$

and

(3.8) 
$$C_k(x) |\omega_n(x)| \le \alpha_{jnk} \frac{n-j+1}{n} \frac{2^n (b-a)^{k+1}}{\binom{n}{j}},$$

where

(3.9) 
$$\alpha_{jnk} = \left[\frac{1}{2n}\left(n+1+|2j-n-1|\right)\right]^k.$$

**Proof.** For i < j we have

$$|x - x_i| \le (j - i)h$$

and for  $i \geq j$  we have

$$|x - x_i| \le (i - j + 1)h$$

such that

$$|(x - x_0) \cdots (x - x_{j-1})(x - x_j) \cdots (x - x_n)| \le j!h^j(n - j + 1)!h^{n-j+1}$$
  
=  $j!(n - j + 1)!h^{n+1}$ .

We have

$$C_k(x) \le \sum_{i=0}^{j-1} \frac{(j-i)^k h^k}{i!(n-i)!h^n} + \sum_{i=j}^n \frac{(i-j+1)^k h^k}{i!(n-i)!h^n}$$
$$\le \sum_{i=0}^{j-1} \frac{j^k h^k}{i!(n-i)!h^n} + \sum_{i=j}^n \frac{(n-j+1)^k h^k}{i!(n-i)!h^n}$$
$$\le h^{k-n} \max\left\{j^k, (n-j+1)^k\right\} \frac{1}{n!} \sum_{i=0}^n \binom{n}{i}$$
$$= \frac{2^n}{n!} \left\{\frac{1}{2} \left[n+1+|n-2j+1|\right]\right\}^k h^{k-n},$$

since

$$\max[j, n - j + 1] = \frac{1}{2} \left( n + 1 + |2j - n - 1| \right)$$

such that it is not difficult to show that (3.7) holds.

Finally, from the above relations we find that (3.8) holds, too.

Remark 3.2. Note that

 $\alpha_{jnk} \leq 1$ 

and  $\alpha_{jnk} = 1$  if and only if j = 1 or j = n. If we choose  $x \in [x_j, x_{j+1}], j = 0, 1, \ldots, n-1$ , then we get the factor (j+1)/n instead of the factor (n-j+1)/n in (3.8).

**Theorem 3.3.** Under the assumptions of Lemma 3.1 and Theorem 3.2 we have

$$\left| f(x) - L_n(x) - \omega_n(x) \sum_{j=1}^k \frac{(-1)^j E_j(0)}{j!} g_j \left[ x_0; x_1; \dots; x_n \right] \right|$$
  
$$\leq \left[ \Gamma_{k+1} - \gamma_{k+1} \right] \delta_k \alpha_{jnk} \frac{n-j+1}{n} \frac{2^n (b-a)^{k+1}}{\binom{n}{j}}.$$

**Proof.** The proof follows immediately from Theorem 3.2 and Lemma 3.1.  $\Box$ 

#### References

- M. Abramowitz and I. A. Stegun (Eds), Handbook of mathematical functions with formulas, graphs, and mathematical tables, National Bureau of Standards, Applied Mathematics Series 55, 4th printing, Washington, 1965, MR 1225604, Zbl 0643.33001.
- [2] R. P. Agarwal and P. J. Y. Wong, Error inequalities in polynomial interpolation and their applications, Kluwer Academic Publishers, Dordrecht/Boston/London, 1993, MR 1449390, Zbl 0881.41001.
- [3] G. A. Anastassiou, Univariate Ostrowski inequalities, revisited, Monatsh. Math., 135(3) (2002), 175–189, MR 1897574, Zbl 1006.26018.
- [4] N. S. Barnett, C. Buse, P. Cerone and S. S. Dragomir, Ostrowski's inequality for vector-valued functions and applications, Comput. Math. Appl., 44 (2002), 559–572, MR 1925801.
- [5] P. Cerone, Three points rules in numerical integration, Nonlinear Anal.-Theory Methods Appl., 47(4) (2001), 2341–2352, MR 1971641.
- [6] P. Cerone and S. S. Dragomir, Midpoint-type rules from an inequalities point of view, Handbook of Analytic-Computational Methods in Applied Mathematics, Editor: G. Anastassiou, CRC Press, New York, 2000, 135–200, MR 1769925, Zbl 0966.26015.
- [7] P. Cerone and S. S. Dragomir, *Trapezoidal-type rules from an inequalities point of view*, Handbook of Analytic-Computational Methods in Applied Mathematics, Editor: G. Anastassiou, CRC Press, New York, 2000, 65–134, MR 1769924, Zbl 0966.26014.
- [8] X. L. Cheng, Improvement of some Ostrowski-Grüss type inequalities, Comput. Math. Appl., 42 (2001), 109–114, MR 1834470, Zbl 0980.26011.
- [9] Lj. Dedić, M. Matić, J. Pečarić, On dual Euler-Simpson formulae, Bull. Belg. Math. Soc. Simon Stevin, 8(3) (2001), 479–504, MR 1861195, Zbl 0994.26019.
- [10] S. S. Dragomir, R. P. Agarwal and P. Cerone, On Simpson's inequality and applications, J. Inequal. Appl., 5 (2000), 533–579, MR 1812572, Zbl 0976.26012.
- [11] S. S. Dragomir and S. Wang, An inequality of Ostrowski-Grüss type and its applications to the estimation of error bounds for some special means and for some numerical quadrature rules, Comput. Math. Appl., 33(11) (1997), 16-20, MR 1458957, Zbl 0880.41025.
- [12] H. N. Mhaskar, D. V. Pai, Fundamentals of approximation theory, CRC Press, Boca Raton/ London/ New York/ Washington, D. C., 2000, MR 1887338, Zbl 0964.41001.

#### Error inequalities

- [13] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, Classical and new inequalities in analysis, Kluwer Academic Publishers, Dordrecht, 1993, MR 1220224, Zbl 0771.26009.
- [14] C. E. M. Pearce, J. Pečarić, N. Ujević and S. Varošanec, Generalizations of some inequalities of Ostrowski-Grüss type, Math. Inequal. Appl., 3(1) (2000), 25–34, MR 1731910, Zbl 0978.26011.
- [15] N. Ujević, New bounds for the first inequality of Ostrowski-Grüss type and applications, Comput. Math. Appl., 46 (2003), 421–427, MR 2015441.
- [16] N. Ujević, New error inequalities in polynomial interpolation, (submitted).

Department of Mathematics, University of Split, Teslina 12/III, 21000 Split, Croatia ujevic@pmfst.hr

This paper is available via http://nyjm.albany.edu:8000/j/2004/10-4.html.